BEAV™LODGE BOARD of TT D%

"

BEAVERLODGE

ALNERTA

April 30th 1937.

We would be pleased to have &s many children as
possible from your district,attend and participete in the
Coronation Day Celebrations at Hythe liay l2th., The Parade
starts at one thirty P.l, Sharp.Plezse be on hand at one P,IL,

Every child attending will be given a Coronation
Medal on entering the grounde,and if convenient,you should have
your own banner for the parade.

Contributions are invited from School Distriets,
£6.00 $10.00 or more,but if you are unable to make any
contribution, Please feel free to attend as we want every child
to be present and enjoy this memorable celebration,

Plesse advise your intention of attending as soon

rossible,

Yours tr »

Becretary.
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HIGH SCHOOL ENTRANCE EXAMINATION BOARD

GENERAL SCIENCE AND HEALTH EDUCATION

2007

DEPARTMENTAL EXAMINATIONS, 1937
GRADE IX

Time—21 hours.

Notes—Grade X and Grade Xl candidates writing on Gen-
eral Science will not be required to write on that

Values

part of the paper based on Health Education.

Pay particular attention to the directions as you
answer the questions. Answer as many questions as
you can in the time allowed. Write your answers
on this examination paper and enclose the paper in

the envelope provided. No foolscap is needed,

Directions: On the line at the right, place the lelter

of the correct answer.

Example: Air is a (a) solid, (b) liquid, (¢) gas. —_c._.

Air is a gas. The correct answer is
shown by placing the lelter “¢" on
the line at the right.

1. A natural factor in our environment is
(a) school, (b} radio, (c) book, (d) air,
(e) automobile.

2. An artificial factor in our environment is
(a) water, (b) air, (c) light, (d) heat,
{e) steam-engine.

3. A general property of matter is (a) weight,
(b) odor, (¢) lustre, (d) magnetism,
(e) compressibility.

4. A special propery of matter is (a) inertia,
(b) weight, (c¢) indestructibility, (d) grav-
itation, (e) transparency.

5. An example of organic matter is (a) sand,
(b) water, (¢) humus, (d) air, (e) light.

6. Heat is a form of (a) matter, (b) energy,
(c) oxidation, (d) thermometer, (e) work.

7. We get first-hand knowledge of our en-
vironment through (a) talking with our
friends, (b) reading books, (¢) observation
and experimentation, (d) theories, (e) laws.

(T
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8. A physical change occurs when (a) iron Directions: On the line at the right, place the word or
rusts, (b) water boils, (c) a match burns, words needed to make each statement true.
(d) a leaf decays, (e) an apple rots. (SRR s 5 16. About fourfifths of the air
9. .z%l body 13] )mition illustrates E:a}) chgmiclﬂ L [ 1 P e S R T S
change, inetic energy, (¢) potenti A7 A annits & i
energy, (d) physical change, (e} loss of : . P re be-
energy. : (0l : cause it has (17)

18, On the up-stroke of the

10. Our main source of energy is (a) coal, pisbor, the platir walve of &

(b) wood, (¢) the sun, (d) oil, (e) water.  (10)u - . lift pump is 1) ST NS TN,
Directions: In the space under each statement give the | :
reason for what happens. A o %a?&?;-cies :hat SOuAInE e (19)...
10 11, An automobile is brought to a stop when the . Y
brakes are applied. 20. Fires said to be caused by
spontaneous combustion are
______________________________________________ really caused by Y e et
.................................................................................................... L Z21. Sound, to travel, requiresa (21) ... .
-------- ; ; ; 22. The pressure exerted by
12. When watching a train from a distance, one ob- compressed air is due to  (22)
gerves the steam from the whistle a short time
before he hears the sound. 23. In_living plants and
animals, respiration takes
..... place in (23 f ., il d RSN I
S 24. An instrument used for
.................... weighing the atmosphere is
13, With a lever, I lift a 16-cunce weight using only % (B4) sttt
- ffort.
an 8-ounce effort 25. The process by which iron
PR A e R S B is given a coating of zine
is called (A % B S Y e A 1!

Directions : Breathing occurs by means of (a) Tongs.
t(b:l h]ung ?a?s, Eic) ?Egmt%m, (d) tubes or

] A S0 - : racheae, (e) gills e skin. Insert i
14, I earry a weight up a stairway with a smaller ex- the Dare'ntheses ot s right the letter :]g

B L B U Taure Be sae liters showing the mode of breathing of
! 6 26. 1. Insects ( )

s 27. 2. Fishes ( )

28, 8. Dogs ( )

15. When you push %)gainst a llea.\é:,r wall you a-zl-{e ex-
pending energy but you are doing no work—as
work is defined in science. 29. 4. Plants ( )

bl i 20, 5. Earthwormsg { )
31. 6. Birds ( )

[ovER]
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Directions: Water has a variety of nsges, What fact
ahout water accounts for its use in each

of the following:

6 32. Making ice cream. (32) R

35. Hot-water heating system. (35) . i “

36. A ship floating in water. (36 -3

37. Steam engines. (37)

Directions: Under each guestion, answer in as few
words as possible,

38. In Alberta the average temperature is lower in
winter than in summer.

477 (7 g e —— L2

39. A room is warmed by a hot stove in one corner.

WHY Dreshtahin ol ol G e =

40, Electricity can be used as a source of heat.

WHIET oo e e s

41, Storm doors and windows are placed on houses in
winter time.

WY sttt ominio o sttt oatfevtre e e et s

e

Values
2 42, Wooden handles are placed on home utensils such

as irons, tea-kettles, and coffee pots.
Why ?

43. Rails on a railway track are placed end to end with
a short space between the ends of the rails.

Why?

44, Two sights are placed on the barrel of a gun.
Whyt o

the oil.
TUHEF b

46. When a beam of light enters a darkened room
through a slit in a blind and fallz upon the rough
surface of a piece of white paper, the room is at
once brighter.

S I e e S

47. When a fuse is destroyed in your lighting system,
1flevcr replace it by a piece of wire; insert a new
use.

WD o e s = e

48, The north pole of a bar magnet attracts the south
pole of a compass needle.

WHY T coiimsirton ot Ll R

49, If a strip of zinc and a strip of copper or carbon
are placed in dilute sulphuric aeid and connected
by a wire, a current of electricity will flow through
the wire.

Wby Bhaetane B R OENE bl s

50. State fowr ways in which the human race is de-
pendent for existence on the sun's energy.




Values
2 51.

3 36.

Name four factors that contribute to soil-making.
1.
R R T
B s Dl

4.

. State fowr ways in which micro-organisms act as

beneficial agents,

The following sentences represent the steps of an
experiment. Show the proper order for these steps
by arranging the letters on the line provided.

(a) Before entering a well, lower a lighted candle
in a pail.

(b) Carbon dioxide does not support combustion.

{¢} We lighted the splinter and let carbon dioxide
flow upon it.

() Does ecarbon dioxide support combustion?

(e¢) Take earbon dioxide, a splinfer and a match.

(f) The flame went out.

s AR e L

Directions: Draw three conclusions from the fol-
lowing observations:

(@) A candle in a covered jar soon goes out.

() A piece of wood Iying on the table does not
start to burn.

(¢) Stones placed on a fire do not burn.

Coneligion T, - - e e L
e N Ty v e e N e D S e (02 AL
Conelusion: B s i e e sy

-

Values

10

HEALTH EDUCATION

Direetions: Show by a letter at the right, the group of
words that best completes each of the fol-
lowing statements.

57. Pasteurization of milk means (a) boiling
millk, (b) keeping it at 120 degrees I, for
50 minutes, (¢) keeping it at 145 degrees
I. for 30 minutes. O R

58. Pasteurization is done fo (a) remove dirt,
(b) prevent milk from souring, (c¢) kil
harmful bacteria. (rtigy S o el

59. Chlorine may be added to drinking water to
(a) remove sediment, (b) kill bacteria,
(c) change the taste. (DY e =

60, Anartesian well means one that (a) is more
than 80 feet in depth, (b) is drilled by
means of a well point, (¢) is below the first
impervious or rock layer. (60 s

61. Wells are most frequently contaminated by
(a) surface drainage, (b) sewage gases,
(c) small animals getting into the well. (Bl re

62. In candling egps for freshness, one con-
siders (a) the size of the egg, (b) the color
of the yoke, (e} the air space in the egg,

63. Control of the fly pest is best accomplished
by (&) screening the doors and windows,
(b) proper disposal of refuse, (¢) the use
of fly paper or fly poison. CHS) L sl

64, A seplic tank is better than a cesspool for
disposing of waste because (a) it holds
more, (b) it provides for the breaking down
of waste by bacteria, (c) it is easier {o
repair.
(B4) st oy

G5, Hard water is not so desirable as soft water
for household purposes because (a) the
minerals might be poisonous, (b) it stains
dishes and pans, (c) it wastes soap. (BB) Lie I A
66. Garbage should be wrapped, covered and
disposed of at short intervals because (a) it
is a good breeding place for flies, (b) the
odor is objectionable, (e¢) it may cause an
epidemic. (G6) it



Values

2 6%. Directions: Write a note on any one of the fol-
lowing:

(a) Food dvalues to be considered in planning a
iet.
(b) The control of communicable dizeases,
(¢) The care of the eyes and prevention of
blindness.
(d) Steps to be taken to reduce automobile and
traffic accidents.

Answer:
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HIGH SCHOOL ENTRANCE EXAMINATION BOARD
DEPARTMENTAL EXAMINATIONS, 1937

GRADE IX

MATHEMATICS
General Test

Time—3 hour.

Directions: Write the answers to as many of these problems
as you can in the time allowed. Do not spend too

1. How many miles East of yvour start-

3

il

=1

much time on any one question.

ing place would you be if you walked
East A miles and then West 3 miles?

e e e miles.

In finding intereat we use the formula
I = prt. If p, v and ¢ are each divided
by 8, how is I changed?

Answer

Continue the following series of |
numbers by writing in the spaces
provided for each series the fwo num-
bers that should come next.

. 1, 6, 13, 22, 38, 46, L ; \

7,12, 22, 37, b7, 82, |

100, 90, 85, 75, 70, 60, | = = _'

'1"7! é‘? ll 5!

. 1,9,25.49,

You may use
this space for
figuring.




10.

13.

132.

13.

1.

15.

1, 6, 14, 25, 39,

Faglls
rl_,-'; il r,é

How many square inches are there in |

a plate 4 feet square?

Answer l Y. 8. in, ‘

The circumference of one circle is 8
times that of a second circle. Com-
pare their areas.

Answer

Three boys own a business. 4 has
%20 invested, B $30 and € $40. Of
a profit of $D, how much should B
get? ]

A D dollare.

Answer

I = oranges cost 8¢, how many
oranges can be bought for 56 cents?

Answer | ...t e oranges. L

How many plums can be bought for
B cents if 7 plums cost 8 cents?

8 ounces of cheese at ¢¢ a lb. and 3
quarts of vinegar at b¢ a gallon will
cost—

Answer

!
=4

A rectangular block of lead e inches
% b inches ¥ ¢ inches is melted to
form a plate 12 inches wide and 1
inch thick. How long will the plate
be?

inches

Answer | . al-t
1 b

jl

)

16.

17.

18.

19.

20.

21

22,

23.

If Mary can add x columns while
Helen adds ¢ columnsg, how many can
she add while Helen adds 257

Answer

]
If # of a ton of coal costs $1.50, find

the cost of N tons.
=id |

Jﬁ_f.»_h‘a.f:x-l.f dollars,

Answer

The weight of a clock falls 4 inches
in 12 hours. In how many minutes
doeg it fall N inches?

Answer | 3.l minutes.

How far will 2 man walk between
9:15 a.m. and 10:45 a.m, if he can
walk 1} miles in 18 minutes?

........j.ﬁ.... ...... .. Iiles.

A plank B feet long is cut into two
pieces so that one piece is § as long
as the other. How long is the shorter
piece?

Answer

Answer

A piece of wire N inches long is cut
into two pieces so that one piece is
£ as long as the other. How long is
the longer piece?

Answer | . inches.

How many pieces of ribbon each 11
ft. long ¢an be eut from a piece A
yards in length?

Answer pieces

How many right angles are there at
the corners of a eube?

Answer A4t




24,

25

27.

30.

$D more than § of my money is %
of my money. How much money have
it

Answer .,,éD ........... dollars.

A plot of ground A4 ft. square has a
walk B ft. wide around it. How many
feet iz it around the outside of the
walk?

Answer -_,.L‘.L’_igﬁ ........... feet.

My brother is 28 years old. I was
born when he was 21 years old. Add
our two ages together.

Answer .__éﬁ__..__.._._. years. l

A motor car goes T4 times as fast as
a horse. How long will it take the
car to make a trip that the horse
makes in z hours?

Answer w.,%%;.;ﬁfx_m. hours

A mixture contains 8 parts sugar and
2 parts salt. How many pounds of salt
in D pounds of the mixture?

Answer %ﬁD ............... pounds.

If 1 is added to the product of two
numbers the result is 25. The differ-
ence between the two numbers is 5.
What is the larger number?

£ |

Answer

A boy bought a bicycle for $15 and
sold it for $18. What was his gain
per cent?

Answer

M
el
I-;.H;u'.ﬁ' i
e ; ) i
i 134
SR | =
by
BT L

31.

A man is 20 miles from town and
walking away from town at the rate
of 6 miles per hour. A friend leaves
town by automobile with the inten-
tion of overtaking the man who is
walking. He overtakes him in 20
minutes. How fast was the car going?

............. .. miles
per hour.

Answer |

If 6 men can do a piece of work in
A days, how many men would be
needed to get it done in B days?

Answer m,-a-“r,r:r_& ....... men,

. John is 22 years old, His father is 41

vears old. How many years ago was
the father exactly twice John's age?

ADNSWET | oo YEATS,

A square field and a rectangular field |

each have a perimeter of x feet, Is
the area of the rectangular field
greater than, equal to, or less than
the area of the square field?

i
il

Answer AL

A taxi company observes that on the
average its 3 cars use a total of 100
gallons of gasoline every T days. At
this rate how many gallons would
cars uge in y days?

Answer ___:Ej"’;_WJ____ gallons.

\“-‘:\
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L
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